Operaciones con Nimeros Vigesimales (B)

10J0Asg

— 28569

5ICDy

+ H6254

C06Gy

— 1A61y

HI529

— GH989

9F 84y

+ 42JBy

Calcule cada respuesta.

FGFGo C74Ay 1763399
+ 3H629 — AB2Fy, — F2JDsg
F632 GI7Hy C55Gy
+ 72184 + 43979 — 6HAJsg
13E3Cyy HS8ICy 1E35Gs
— C7D5y — G47Gyp — J79Fy
134HBy, HBGGoy H182y
— ADI9y + 8H154 + HJ104
7DEAy 1A9EBy, 183F 3y
+ FOHJ9 — T0BJy — H67Ay
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Operaciones con Nimeros Vigesimales (B) Respuestas

10J0Ay

— 28569

TAF4y,

5ICDy

+ H6254

134E T

C06Gy

— 1A61y

A9JI4

HI529

— GH989

10FEs

9F 84y

+ 42JBsg

DI7Fs

Calcule cada respuesta.

FGFGoy

+ 3H6290

JE1Ts

F6329

+ 72189

12844,

13E3Cy

— C7D59g

B6AT9

134HBs

— ADI9y

CAJ29

7DEAo

+ FOHJy

12EC9

C74Ay

— AB2F,

221F+

GI7Hy

+ 439749

11HHGy

H8ICs

— G47Gy

14AGy

H6GGy

+ 8H159)

163T 15

1A9EBs

— I0BJyg

C92Cq0

176JJ99

— F2JDsg

C4069

C55Gyg

— BHAJs

57EHs

1E35G9g

— J79F9

EFG1q

H1824

+ HJ1099

1F0925

183F 39

— H67Ay

AH7Doq
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